
  [P.T.O. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
 

 

 

 

 

 

 

 

 

 

g§H${bV narjm  - II 

SUMMATIVE ASSESSMENT - II 

gm_m{OH$ {dkmZ 
SOCIAL SCIENCE 

 

{ZYm©[aV g_` … 3 KÊQ>o ] [ A{YH$V_ A§H$ … 90 

Time allowed : 3 hours ]  [ Maximum marks : 90

• H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _| _w{ÐV n¥ð> 11 + 2 _mZ{MÌ h¢Ÿ& 
• àíZ-nÌ _| Xm{hZo hmW H$s Amoa {XE JE H$moS> Zå~a H$mo N>mÌ CÎma-nwpñVH$m Ho$ _wI-n¥ð> na 

{bI|& 
• H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _| 30 àíZ h¢& 
• H¥$n`m  àíZ H$m  CÎm a {b I Zm  ewê$ H$aZo go nhb o, àíZ H$m  H«$_ m §H$ Ad í` {b I |& 
• Bg àíZ-nÌ H$mo n‹T>Zo Ho$ {bE 15 {_ZQ> H$m g_` {X`m J`m h¡& àíZ-nÌ H$m {dVaU nydm©• _| 

10.15 ~Oo {H$`m OmEJm& 10.15 ~Oo go 10.30 ~Oo VH$ N>mÌ Ho$db àíZ-nÌ H$mo n‹T>|Jo Am¡a 
Bg Ad{Y Ho$ Xm¡amZ do CÎma-nwpñVH$m na H$moB© CÎma Zht {bI|Jo& 

• Please check that this question paper contains 11 printed pages + 2 Maps. 

• Code number given on the right hand side of the question paper should be 

written on the title page of the answer-book by the candidate.  

• Please check that this question paper contains 30 questions. 

• Please write down the Serial Number of the question before attempting 

it. 

• 15 minute time has been allotted to read this question paper. The question 

paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the 

students will read the question paper only and will not write any answer on 

the answer-book during this period. 

narjmWu H$moS> H$mo CÎma-nwpñVH$m Ho$ _wI-n¥ð> na 
Adí` {bI|& 
Candidates must write the Code on 

the title page of the answer-book. 

Series JSR/1 

32/1/1 
amob> Z§. 
Roll No. 
 

Set 1 
H$moS> Z§. 
Code No. 
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gm_mÝ` {ZX}e… 

(i) Bg àíZ-nÌ _| Hw$b 30 àíZ h¢Ÿ& g^r àíZ A{Zdm`© h¢& 

(ii) àË`oH$ àíZ Ho$ A§H$ CgHo$ gm_Zo {XE JE h¢& 

(iii) àíZ g§»`m 1 go 8 A{V bKw-CÎmar` àíZ h¢& àË òH$ àíZ 1 A§H$ H$m h¡Ÿ& 

(iv) àíZ g§»`m 9 go 20 VH$ àË`oH$ àíZ 3 A§H$ H$m h¡Ÿ& BZ_| go àË`oH$ àíZ H$m 

CÎma 80 eãXm| go A{YH$ H$m Zht hmoZm Mm{hEŸ& 

(v) àíZ g§»`m 21 go 28 VH$ àË`oH$ àíZ 5 A§H$ H$m h¡Ÿ& BZ_| go àË`oH$ àíZ H$m 

CÎma 100 eãXm| go A{YH$ H$m Zht hmoZm Mm{hEŸ& 

(vi) àíZ g§»`m 29 Am¡a 30 B{Vhmg Am¡a ŷJmob Ho$ _mZ{MÌ dmbo àíZ àË`oH$  

3 A§H$ Ho$ h¢& BÝh| nyam H$aZo Ho$ ~mX, _mZ{MÌm| H$mo CÎma-nwpñVH$m Ho$ A§Xa ZËWr 

H$a Xr{OE&  

General Instructions : 

(i) The question paper has 30 questions in all. All questions are 

compulsory.  

(ii) Marks are indicated against each question. 

(iii) Questions from serial number 1 to 8 are very short answer 

questions. Each question carries 1 mark. 

(iv) Questions from serial number 9 to 20 are 3 marks questions. 

Answer of these questions should not exceed 80 words each. 

(v) Questions from serial number 21 to 28 are 5 marks questions. 

Answer of these questions should not exceed 100 words each. 

(vi) Question number 29 and 30 are map questions of 3 marks 

each from History and Geography both. After completion, 

attach the maps inside your answer-book.  
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1. 1832 H$s Cg g§{Y H$m Zm_ {b{IE {OgZo `yZmZ H$mo EH$ ñdV§Ì amï´> H$s _mÝ`Vm 

XrŸ& 1 

 AWdm 

 {d`VZm_ _| \«$mÝgr{g`m| H$s namO` Ho$ ~mX OZodm _| Mbr empÝV dmVm©Am| H$m Š`m 

n[aUm_ {ZH$bmŸ? 

 Name the Treaty of 1832 that recognised Greece as an 

independent nation. 

 Or 

 What was the result of the peace negotiation in Geneva that 

followed the French defeat in Vietnam?  

2. I{ZOm| _| {d{dY a§J, H$R>moaVm, {d{dY {H«$ñQ>b, M_H$ Am¡a KZËd Š`m| nm`o OmVo 

h¢Ÿ? 1 

 Why are there a wide range of colours, hardness, crystal forms, 

lustre and density found in minerals? 

3. {H$gr Img _wÔo na Ho$pÝÐV Am§XmobZ {H$g àH$ma gmd©^m¡_ àH¥${V Ho$ Am§XmobZm| go 

{^Þ h¢Ÿ? 1 

 How are issue specific movements different from generic 

movements? 

4. {H$gr EH$ amOZr{VH$ Xb H$m Zm_ {b{IE {OgH$m amï´>r` ñVa na amOZr{VH$ g§JR>Z 

h¡, naÝVw Cgo amï´>r` amOZr{VH$ Xb Ho$ ê$n _| _mÝ`Vm Zht {_br h¡Ÿ& 1 

 Name any one political party that has national level political 

organisation but not recognised as the national political party.  
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5. ~mo{b{d`m _| nmZr Ho$ {ZOrH$aU Ho$ {Ibmµ\$ Am§XmobZ H$s AJwdmB© {H$g g§JR>Z Zo H$s 

WrŸ?  1 

 Which organisation led the protest against water privatisation in 

Bolivia? 

6. {Zdoe Am¡a {dXoer {Zdoe _| AÝVa H$s{OEŸ& 1 

 Differentiate between investment and foreign investment. 

7. H$ënZm H$s{OE {H$ AmnH$mo AnZr `mÌm Ho$ Xm¡amZ nrZo Ho$ {bE nmZr H$s n¡H$ ~moVb 

IarXZr n‹S>r h¡Ÿ& BgH$s JwUdÎmm Ho$ à{V AmídñV hmoZo Ho$ {bE Amn H$m¡Z gm eãX 

{M• (bmoJmo) XoIZm MmhmoJoŸ? 1 

 Suppose you have to buy a packed bottle for drinking water in 

your journey. Which logo will you like to see to be sure about its 

quality? 

8. ~¢H$m| _| O_m am{e`m± {H$g àH$ma ~¢H$m| H$s Am` H$m òmoV ~ZVr h¢Ÿ?  1 

 How do the deposits with banks become their source of  

income? 

9. `yamon _| CÞrgdt gXr Ho$ Xm¡amZ Zmar H$s N>{d {H$g àH$ma amï´> H$m ê$nH$ ~ZrŸ& 

{díbofU H$s{OEŸ& 3 

AWdm 

 \«$mÝgr{g`m| Ho$ {déÕ b‹S>Zo Ho$ {bE g_mO Ho$ {d{^Þ dJm] Ûmam {H$E JE à`mgm| go 

{d`VZm_ _| amï´>dmX {H$g àH$ma C^amŸ? {díbofU H$s{OEŸ& 
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 How had the female figures become an allegory of the nation 

during nineteenth century in Europe? Analyse. 

Or 

 How did nationalism emerge in Vietnam through the efforts of 

different sections of society to fight against the French? Analyse. 

10. 1921 VH$ {H$gZo "ñdamO H$m PÊS>m' V¡̀ ma H$a {b`m WmŸ? ñdamO Ho$ Bg PÊS>o H$s 

_w»` {deofVmAm| H$mo ñnï> H$s{OEŸ& 1+2 =3 

 Who had designed the ‘swaraj flag’ by 1921? Explain the main 

features of this ‘swaraj flag.’ 

11. "" "g{dZ` Adkm AmÝXmobZ' "Agh`moJ Am§XmobZ' go {^Þ WmŸ&'' H$WZ H$s nw{ï> 

CXmhaUm| g{hV H$s{OEŸ& 3×1=3 

 “The Civil Disobedience Movement was different from the Non- 

Cooperation Movement.” Support the statement with examples. 

12. CÚmoJm| H$mo ny±Or {Zdoe Ho$ AmYma na dJuH¥$V H$s{OEŸ& do {H$g àH$ma EH$-Xygao go 

{^Þ h¢Ÿ? CXmhaUm| g{hV ñnï> H$s{OEŸ& 1+2 =3 

 Classify industries on the basis of capital investment. How are 

they different from one another? Explain with examples. 

13. ""gj_ n[adhZ Ho$ gmYZ Vrd« {dH$mg hoVw nyd©-Ano{jV h¢Ÿ&'' Bg H$WZ Ho$ nj _| 

AnZo {dMma ì`º$ H$s{OEŸ& 3 

 “Efficient means of transport are pre-requisites for the fast 

development.” Express your views in favour of this statement. 
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14. ""dó CÚmoJ Xoe H$m EH$_mÌ CÚmoJ h¡ Omo H$ƒo _mb go CƒV_ A{V[aº$ _yë` 

CËnmX VH$ H$s ûm¥§Ibm _| n[anyU© VWm AmË_{Z ©̂a h¡Ÿ&'' Bg H$WZ H$mo Ý`m`g§JV 

R>hamBEŸ& 3 

 “The textile industry is the only industry in the country which is  

self-reliant and complete in the value chain.” Justify the  

statement.  

15. "amï´>r` amOZr{VH$ Xb' go Š`m A{^àm` h¡Ÿ? amï´>r` amOZr{VH$ Xb ~ZZo Ho$ {bE 

Amdí`H$ eVm] H$m CëboI H$s{OEŸ&  1+2=3 

 What is meant by a ‘national political party’? State the conditions 

required to be a national political party. 

16. dJ© {deofr g_yh {H$Ýh| H$hVo h¢Ÿ? CZH$s H$m`©-{d{Y H$m dU©Z H$s{OEŸ&  1+2=3 

 What are sectional interest groups? Describe their functioning. 

17. ""A{YH$m§e ñWm{nV bmoH$Vm§{ÌH$ emg{ZH$ ì`dñWmE± {dñVma H$s MwZm¡Vr H$m gm_Zm 

H$a ahr h¢Ÿ&'' Bg H$WZ H$s CXmhaUm| g{hV nw{ï> H$s{OEŸ&  3×1=3 

 “Most of the established democracies are facing the challenge of 

expansion.” Support the statement with examples. 

18. _wÐm, dñVwAm| Am¡a godmAm| Ho$ {d{Z_` _| {H$g àH$ma gw{dYm àXmZH$Vm© Ho$ ê$n _| 

H$m`© H$a gH$Vr h¡Ÿ? ñnï> H$aZo Ho$ {bE CXmhaU Xr{OEŸ& 3×1=3 

 How can money easily exchange it for goods or services? Give 

example to explain. 
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19. "^maV _| 1991 go {dXoe ì`mnma Am¡a {dXoer {Zdoe na go AdamoYm| H$mo H$m\$s hX 

VH$ hQ>m {X`m J`m WmŸ&' Bg H$WZ H$mo Ý`m`g§JV R>hamBEŸ& 3 

 ‘Barriers on foreign trade and foreign investment were removed 

to a large extent in India since 1991.’ Justify the statement. 

20. ""AZm¡nMm[aH$ joÌH$ H$s gmI H$s J{V{d{Y`m| H$mo hVmoËgm{hV H$aZm Mm{hEŸ&'' VH$m] 

g{hV Bg H$WZ H$s nw{ï> H$s{OEŸ& 3×1=3 

 “The credit activities of the informal sector should be 

discouraged.” Support the statement with arguments. 

21. \«$mÝgrgr bmoJm| Ho$ ~rM gm_y{hH$ nhMmZ H$s ^mdZm n¡Xm H$aZo Ho$ {bE \«$mÝgrgr 

H«$mpÝVH$m[a`m| Ûmam àmaå^ {H$E JE Cnm`m| Am¡a H$m`m] H$m {díbofU H$s{OEŸ& 5×1=5 

 AWdm 

 ""{d`VZm_ _| A_o[aH$m Ho$ `wÕ _| Hy$X n‹S>Zo go EH$ Z`m Xm¡a àmaå^ hþAm Omo 

{d`VZm{_`m| Ho$ gmW-gmW A_ar{H$`m| Ho$ {bE ~hþV _h±Jm gm{~V hþAmŸ&'' Bg 

H$WZ H$m {díbofU H$s{OEŸ& 

 Analyse the measures and practices introduced by the French 

revolutionaries to create a sense of collective identity amongst the 

French people. 

 Or 

 “U.S. entry into the war in Vietnam marked a new phase that 

proved costly to Vietnamese as well as to the Americans.” 

Analyse the statement. 
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22. JmÝYrOr Zo àñVm{dV am°bQ> EŠQ> 1919 Ho$ {déÕ EH$ amḯ>ì`mnr gË`mJ«h Am§XmobZ 

MbmZo H$m {ZU©̀  Š`mo§ {H$`mŸ? Bg gË`mJ«h H$mo {H$g àH$ma g§Mm{bV {H$`m J`mŸ? 

ñnï> H$s{OEŸ& 2+3=5 

 Why did Gandhiji decide to launch a nationwide satyagraha  

against the proposed Rowlatt Act 1919? How was it organised? 

Explain. 

23. noQ´>mo{b`_ H$s _hÎmm H$mo COmJa H$s{OEŸ& ^maV _| noQ´>mo{b`_ H$s CnpñW{V H$s 

ì`m»`m H$s{OEŸ& 2+3=5 

 Highlight the importance of petroleum. Explain the occurrence of 

petroleum in India. 

24. ""{H$gr Xoe H$s Am{W©H$ CÞ{V {d{Z_m©U CÚmoJm| Ho$ {dH$mg go _mnr OmVr h¡Ÿ&'' VH$m] 

g{hV Bg H$WZ H$s nw{ï> H$s{OEŸ& 5 

 “The economic strength of a country is measured by the 

development of manufacturing industries.” Support the statement 

with arguments. 

25. bmoH$VmpÝÌH$ gaH$ma| {H$g àH$ma AÝ` àH$ma H$s gaH$mam| go ~ohVa h¢Ÿ? VwbZm 

H$s{OEŸ& 5 

 How are the democratic governments better than the other forms 

of governments? Compare. 
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26. ""X~md g_yh Am¡a Am§XmobZ amOZr{V na {d{^Þ àH$ma go à^md S>mbVo h¢Ÿ&'' Bg 

H$WZ H$s Cn ẁº$ CXmhaUm| g{hV nw{ï> H$s{OEŸ& 5×1=5 

 “Pressure groups and movements exert influence on  

politics in different ways.” Support the statement with suitable 

examples. 

27. G U H$s _hÎdnyU© Am¡a gH$mamË_H$ ŷ{_H$m H$m CXmhaUm| g{hV dU©Z H$s{OEŸ& 5 

 Describe the vital and positive role of credit with examples. 

28. d¡ídrH$aU {H$go H$hVo h¢Ÿ? d¡ídrH$aU H$s à{H«$`m H$mo àmoÞV H$aZo _| ~hþamï´>r` 

H$ån{Z`m| H$s ŷ{_H$m H$m dU©Z H$s{OEŸ& 1+4=5 

 What is globalisation? Describe the role of Multinational 

Corporations (MNCs) in promoting globalisation process. 

29. VrZ bjU A, B Am¡a C, ^maV Ho$ {XE JE amOZr{VH$ aoIm-_mZ{MÌ _| A§{H$V 

{H$E JE h¢Ÿ& BZ bjUm| H$mo {ZåZ{b{IV OmZH$mar H$s ghm`Vm go nhMm{ZE Am¡a 

CZHo$ ghr Zm_ _mZ{MÌ na ItMr JBª aoImAm| na {b{IEŸ… 3×1=3 

A. dh ñWmZ Ohm± ^maVr` amï´>r` H$m§J«og H$m A{YdoeZ hþAm WmŸ& 

B. dh ñWmZ Omo {H$gmZm| Ho$ gË`mJ«h go Ow‹S>m hþAm h¡Ÿ& 

C. dh ZJa Omo O{b`m±dmbm ~mJ KQ>Zm go g§~§{YV h¡Ÿ& 
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 Three features A, B and C are marked on the given political 

outline map of India. Identify these features with the help of the 

following information and write their correct names on the lines 

marked in the map : 

A. The place where the Indian National Congress Session was 

held. 

B. The place associated with peasant’s satyagraha. 

C. The city associated with the Jallianwala Bagh incident. 

 ZmoQ>  … {ZåZ{b{IV àíZ Ho$db Ñ{ï>~m{YV nar jm{W©`m| Ho$ {bE àíZ g§»`m 29 

Ho$ ñWmZ na h¡Ÿ… 

(29.1) Cg ñWmZ H$m Zm_ {b{IE, Ohm± 1927 _| ^maVr` amï´>r` H$m§J«og H$m 

A{YdoeZ hþAm WmŸ& 

(29.2) Cg amÁ` H$m Zm_ {b{IE, Ohm± Zrb H$s IoVr H$aZo dmbm| Zo gË`mJ«h 

{H$`m WmŸ& 

(29.3) O{b`m±dmbm ~mJ H$s KQ>Zm go g§~§{YV eha H$m Zm_ {b{IEŸ& 

 Note : The following questions are for the Visually Impaired 

Candidates only, in lieu of Q. No. 29 :  

(29.1) Name the place where the Indian National Congress 

Session was held in 1927. 

(29.2) Name the state where the Indigo planters organised 

satyagraha. 

(29.3) Name the city related to the Jallianwala Bagh incident.  
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30. ^maV Ho$ {XE JE amOZr{VH$ aoIm-_mZ{MÌ _| {ZåZ{b{IV H$mo Cn`wº$ {M•m| go 

Xem©BE Am¡a CZHo$ Zm_ {b{IEŸ… 3×1=3 

  A . A§H$boída  –  Vob-joÌ 

  B . XwJm©nwa  –  bmohm d BñnmV g§ §̀Ì 

  B . VyVrH$mo[aZ –  à_wI g_wÐr nÎmZ 

 On the given political outline map of India locate and label the 

following with appropriate symbols :  

   A. Ankleshwar  – Oil field 

   B. Durgapur – Iron and steel plant 

   C. Tuticorin – Major seaport 

ZmoQ>  … {ZåZ{b{IV àíZ Ho$db Ñ{ï>~m{YV narjm{W©`m| Ho$ {bE àíZ g§»`m 30 Ho$ ñWmZ 

na h¢Ÿ… 

 (30.1) A§H$boída Vob joÌ {H$g amÁ` _| pñWV h¡Ÿ? 

 (30.2) XwJm©nwa bmohm d BñnmV g§`§Ì {H$g amÁ` _| pñWV h¡Ÿ? 

 (30.3) ^maV Ho$ X{jUV_ g_wÐr nÎmZ H$m Zm_ {b{IEŸ& 

Note : The following questions are for the Visually Impaired 

Candidates only, in lieu of Q. No. 30 :  

(30.1) In which state is Ankleshwar oil field located? 

(30.2) In which state is Durgapur iron and steel plant located? 

(30.3) Name the southern most major seaport of India. 
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Secondary School Exam. (March, 2016) 

Social Science (Summative Assessment 2) 

Marking Scheme (Delhi Region) 32/1/1 

 

QNO. EXPECTED ANSWER/VALUE POINT PAGE 
NO. 

MARKS 

1 Treaty of 1832: 
Constantinople 

OR 
The result of the peace negotiation in Geneva:  
The division of Vietnam/ Vietnam is divided into two parts: North and South 

 
13 (H) 

 
 

43 (H) 

 
 
 
 

1 

2 The ranges found in minerals are due to: 
Physical and Chemical conditions 

 
51 (G) 

 
1 

3 Difference between issue specific and generic movements:  
Issue specific movements seek to achieve a single objective within a limited 
time frame, while generic movements seek to achieve a broad goal in the long 
term. 

 
 

 
65 (PS) 

 
 
 

1 

4 The political party that has national level political organization but not 
recognized as the National Party:  
Samajwadi Party/ Samata Party/ Rashtriya Janta Dal 

 Any one to be mentioned 

 
 
 

81 (PS) 

 
 
 

1 

5 The organisation which led the protest against water privatization in Bolivia: 
FEDECOR 

 
62 (PS) 

 
1 

6 
 

Difference between investment and foreign investment: 
The money that is spend to buy assets (land, building, machines and other 
equipment) is called investment, while the investment made by the MNCs is 
called foreign Investment. 

 
 
 

57 (E) 

 
 
 

1 

 
85 (E) 

 
1 

8 The Source of income of bank: 
Banks charge higher interest rate on loans than what they offer on deposits. 
The difference of interest is the main source of income of banks. 

 
 

42 (E) 

 
 

1 

9 The female figures as an allegory of the nation: 
Artists found a way out to represent a country in the form of a person. Then 
nations were portrayed as female figures. The female figure was chosen to 
personify the nation did not stand for any particular woman in real life. It gave 
the abstract idea of the nation a concrete form. Thus, the female figure 
became an allegory of the nation.  
During the French Revolution artists used the formal allegory to portray idea 
such as Liberty, Justice and the Republic. 

 To be assessed as a whole 

OR 
 
 The Nationalism emerged in Vietnam: 
The colonization of Vietnam by French brought the people of the country into 
conflict with the colonisers in all areas of life. Vietnamese began reflecting on 

 
 
 
 
 
 
 
 

23 (H) 
 
 
 
 
 
 

 
 
 
 
 
 
 
 

3 
 
 
 
 
 
 

7 The logo: 
ISI/ Indian Standard Institutions  
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the nature of the loss. Nationalist resistance developed out of this reflection. 
Teachers, students fought against the colonial government’s efforts. Many 
religious movements were hostile to the western presence. Development in 
China also inspired Vietnamese nationalists. Vietnamese students organized in 
association for the restoration of the anti-French independence movement 
changed.  

 To be assessed as a whole 

 
 
 
 
 
 

30 (H) 

 
 
 
 
 
 

3 

10 Mahatma Gandhiji designed the “Swaraj Flag” by 1921.  (1) 
 Features: 

(i) It had tricolours- Red, Green and White 
(ii) It had a spinning wheel in the center. 
(iii)It represents the Gandhian idea of self- help.     

      (iv)It had become a symbol of defiance. 
      (v) Any other relevant point. 

 Any two points to be explained.                                                         (2X1=2)              

 
 
 
 
 
 

 
72 (H) 

 
 
 
 
 
 

 
1+2=3 

11 The Civil Disobedience Movement  was different from the Non Cooperation 
Movement: 
Non Cooperation Movement:  

(i) The people were asked not to cooperate with the government. 

(ii) Foreign goods were boycotted. 

(iii) Liquor shops were picketed. 

(iv) Foreign cloth burnt in huge. 

(v)In many places merchants and traders refused to trade on foreign   

           goods or finance foreign traders. 

       (vi)Students left the government owned schools and college. 

(vii) Lawyers gave up legal practices. 

Civil Disobedience Movement:  

(i) People were asked to break colonial laws. 

(ii) The countrymen broke the salt law. 

(iii) Peasants refused to pay revenue and chaukidari tax. 

(iv) Village officials resigned from their jobs. 

(v) Forest people violated forest rules and laws. 

  Any three points of difference to be mentioned 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

58,64 
(H) 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

3 X 1 = 
3 

12 Classification of the industries on the basis of capital investment: 
(i) Small Scale industry 
(ii)Large Scale industry                                                                               (½ + ½=1)  

 
Difference:  
If the investment is more than one crore on any industry is considered as a 
large scale industry for example Iron and Steel Industry/ Cement Industry (any 
other relevant example). While the investment is less than one crore on an 
industry is considered as a small scale industry eg. Plastic industry, toy industry 
(any other relevant example).                                                                                (2) 

 
 
 
 
 
 
 
 
 

67 (G) 

 
 
 
 
 
 

 
 
 
1+2=3 

13 Importance of efficient means of transport for the development is to be 
explained by the candidate in their own words. 

 Since it is a value based question, candidates’ view reflecting the 
development due to the transport may be given due consideration.  

 

  
 
 

3 
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14 The textile industry is self-reliant and complete in value chain:  
(i) It contributes significantly to industrial production (14%). 

(ii) Employment generation (35 million persons directly- the second largest 

after agriculture). 

(iii) Foreign exchange earnings (about 24.6%). 

       (iv) It contributes 4 per cent towards GDP.  

       (v) Any other relevant point. 

 With the help of any three points the statement to be justified. 

 
 
 
 
 
 
 

67 (G) 

 
 
 
 
 
 
 

3X1=3 

15 National Political Party have units in the various states, they follow the same 
policies, programmes and strategy that is decided at the national level.         (1) 
 
 Conditions required: 

(i) A party that secures at least 6% of the total votes in general elections of 
Lok Sabha or assembly elections in four states. 

      (ii) Wins at least 4 seats in Lok Sabha.                                                      (2X1=2) 79 (PS) 1+2 =3 

16 
 

Sectional interest groups: 
The groups that seek to promote the interests of a particular section or a 
group of a society is called sectional interest groups.                                          (1) 
 
Functioning: 

(i) They perform a meaningful role in countering the undue influence of 
other groups. 

(ii) They create awareness about the needs and concerns of their own 
society. 

(iii) Their principal concern is the betterment and well-being of their     
       members not society in general. 
(iv) Any other relevant point. 

 Any two points to be described.                                                         (2X1=2) 64(PS) 1+2=3 

17 Most of the established democracies face the challenge of expansion: 
(i) Citizens have great expectations from the government. 

(ii) Government tries their best for the upliftment of the society. 

(iii) Ensuring greater power to local government. 

(iv) Extension of federal principles to all the units of the federation 

inclusion women and minority groups.  

       (v) Any other relevant point. 

 Any three points to be explained. 102 (PS) 3X1=3 

18 Money acts easier to exchange for goods and services: 
 A person holding money can easily exchange it for any commodity or service 
that he or she might want. 
Everyone prefers to receive payments in money and exchange the money for 
things they want.  
 
For example: A shoemaker wants to sell shoes in the market and buy wheat. 
The shoe maker will first exchange shoes for money and then exchange the 
money for wheat. If the shoe maker had to directly exchange shoes for wheat 
without the use of money. He would have to look for a wheat growing farmer 
who not only wants to sell wheat but also wants to buy the shoe in exchange. 
Both the parties have to agree to sell and buy each others commodities. This 
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process is very difficult, time consuming and unhealthy. 
Any other example may be considered. 

 To be assessed as a whole. 

 
 
39 (E) 

 
 

3 

19 Removal of barriers on foreign trade and foreign investment: 
(i) Barriers on foreign trade and foreign investment were partially 

removed. 
(ii) Goods could be improved and exported easily. 
(iii) Foreign companies could set up factories and offices here. 
(iv) Opportunities for Indian producers to compete with producers            

around the globe.  
(v) Any other relevant point. 

 Any three points to be justified. 64 (E) 3X1=3 

20 The credit activities of the informal sector should be discouraged because: 
(i) 85% of loans taken by the poor households in the urban areas are 

from informal sources. 
(ii) Informal lenders charge very high interest on their loans. 
(iii) They try to charge more and more interest on their loans. 

          (iv) There are no boundaries and restrictions. 
           (v) Higher cost of borrowing means a larger part of the earnings of the  
                 borrowers is used to repay the loan. 
          (vi) In certain cases, the high interest rate for borrowing can mean that       
                the amount to be repaid is greater than the income of the borrower. 
          (vii)This could lead to increasing debt and debt trap, therefore the  
                credit activities of the informal sector should be discouraged. 
         (viii) Any other relevant point. 

  Any three points to be argued. 49 (E) 3X1=3 

21  Measures and practices introduced by the French revolutionaries for 
collective identity: 

(i) The ideas of LA PATRIE and LECITOYEN emphasized. 
(ii) A new French flag , the tricolor was chosen. 
(iii)The Estate General was elected by the active citizens.       

      (iv)The elected body of citizen renamed as National Assembly. 
      (v) New hymns were composed. 
      (vi)Oaths were taken. 
      (vii)Martyrs commemorated. 
       (viii)A centralized administrative system was implemented. 
       (ix)Formulated uniform laws. 
       (x)A uniform system of weights and measures were adopted. 
        (xi)French became the common language of the nation. 
        (xii) Any other relevant point. 

 Any five measures to be analysed. 
OR 

US entry into the war in Vietnam marked a new phase: 
(i) From 1965-1972 many (over 403100) US personnel served in Vietnam 
(7484 were women). 
 (ii)Many (about 47244) died in the battle and a large number of people 
(303704) were wounded.  
(iii)Out of the wounded, 23014were listed 100% disabled.  
(iv)This phase of struggle with the US troops arrived equipped with heavy 
weapons and tanks and most powerful bombs.  

 
 
 
 
 
 
 
 
 
 
 
 

 
105(H)  
 
 
 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 

5X1=5 
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(v)Destroyed many villages and decimated jungles.  
(vi)Civilians died in large numbers. 

              (vii) Any other relevant point. 

 Any five points to be explained. 

 
 
 
45,46(H) 

 
 

 
5X1=5 

22 Satyagrah against the proposed Rowlatt Act 1919:  
(i) The Rowlatt Act was hurriedly passed through the Imperial Legislative 

Council. 
(ii) Indian members unitedly opposed it.  
(iii) It gave government enormous powers to repress political activities.  
(iv) It allowed detention of political prisoners without trials for two years.  
(v) Any other relevant point. 

 Any two points to be mentioned.                                      (2X1=2) 
 

Organization of Satyagrah: 
(i) Mahatma Gandhi wanted non-violent civil disobedience against such 

unjust laws. 
(ii) It was started with a ‘Hartal’ on 6th April. 
(iii)Rallies were organized in various cities. 

       (iv) Workers went on strike in railway workshops. 
(vi) Shops closed down. 
(vii)Any other relevant point. 

 Any three points to be explained.                                                      (3X1=3) 55(H) 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

2+3=5 

23 Importance of Petroleum:  
(i) Petroleum is the major energy source in India. 
(ii) Provides fuel for heat and lighting. 
(iii) Provides lubricant for machinery. 

         (iv) Provides raw material for a number of manufacturing industries.    
         (v) Petroleum refineries act as nodal industry for synthetic, textile, 
                fertilizer and chemical  industries. 
         (vi) Any other relevant point. 

 Any two point to be mentioned.                                                  (2X1=2) 
 

 Its occurrence: 
(i)Most of the petroleum occurrences in India are associated with anticlines 
and fault traps. 
(ii) In regions of folding, anticline or domes, it occurs where oil is trapped in 
the crest of the upfold.  
(iii)Petroleum is also found in fault traps between porous and non-porous 
rocks. 
(iv) Any other relevant point. 

 Any three points to be explained.                                                 (3X1=3) 60 (G) 2+3=5 

24 Role of manufacturing industries in the economic development: 
(i) Manufacturing sector is considered as the backbone of development. 

(ii) All round development depends on Industries. 

(iii) Industries help in modernising  agriculture. 

(iv) Reduce the heavy dependence of people on agricultural income by   

providing them jobs. 

       (v) Industrial development is a precondition for eradication of     

         unemployment and poverty from the country. 
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       (vi) It was aimed at bringing down regional disparities    

(vi) Expansion of manufactured goods.       

       (viii) Trade and commerce brings in much needed foreign exchange. 

       (ix) India’s prosperity lies in increasing and diversity of its manufacturing  

            industries as quickly as possible.            

       (x) Any other relevant point. 

 Any five points to be argued. 

 
 
 
 
 
 
 

65 (G) 

 
 
 
 
 
 
 

5X1=5 

25 The democratic governments are better than other forms of governments: 
(i) Democratic governments have formal constitution, while not in 

other form of governments. 
(ii) They hold regular elections, while not in other form of 

governments. 
(iii) They have political parties, while not in other form of governments. 
(iv) They guarantee rights of citizens, while not in the other form of 

governments. 
(v) Such governments allow room to correct mistakes, while not in the 

other form of government. 
(vi) Such government accommodates social diversities, while not in 

other form of government. 
(vii) Any other relevant point. 

 Any five points of comparison to be explained. 90 (PS) 5X1=5 

26 Influence of pressure groups and movements on politics: 
(i) Pressure groups and movements try to gain public support and 

sympathy for their goal. 
(ii) They carry out information campaigns, organize meetings and file 

petitions. 
(iii) They also try to influence media to give more attention to their 

issues. 
          (iv) They often organize protest activity like strike etc. 
          (v) Worker’s organization employees, association and most of the  
               movement groups force the government to consider their     
                demands.        
         (vi) Business groups often employ professional lobbyists. 
         (vii) Some pressure groups formed and led by the leaders of political   
               Parties.           
         (viii) Some political parties grow out of movements.  
                  
         (ix)Any other relevant point. 

 Any five points to be explained. 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

66,67 
(PS) 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

5X1=5 

27 Credit may be helpful if provided timely and with planning: 
A large number of transactions in our day-to-day activities involve credit in 
some form or the other. It also helps to be improved the economy  of the 
country.  
Take the example of Salim, a farmer, a businessman etc. 

 To be assessed as a whole with examples.  43 (E) 5 
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28 Globalisation is the process of rapid integration or interconnection between 
countries.                                                                                                               (1) 
 
Role of MNC’s: 

(i) By more flow of manpower 
(ii) Investment 
(iii) Technology  

       (iv) Goods 
       (v) Services 
       (vi) Latest education  
       (vii) Any other relevant point. 

 Any four points to be described.                                                  (1X4=4) 62 (E) 

 
 
 
 
 
 
 
 
 

1+4=5 

29 See filled map for the answers 
 
 For the visually impaired candidates: 
 (29.1)- Madras/Chennai 
 (29.2)- Bihar 
 (29.3)- Amritsar  3x1=3 
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30 See filled map for the answers  
 
For the visually impaired candidates: 
(30.1)- Gujarat 
(30.2)- West Bengal 
(30.3)- Tuticorin 

  
 
 
 
 

3x1=3 
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